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SN 240
M BASEAHI (240 (JIEHIIEN
cel: D=3 (el &)
S - T B2I(31) - ARAIY - BAS 03] b0t p[E<El HimE==T
—JIEt ==2Ib| A& 540,000& 540 600 AB0
OJIEF AtR2t2lgI (0l atE ) Z& 810,000& 810 900 A90
202 Ot 43,740 48,600 24,860
01 2LHOAYI 43,740 48,600 24,860
OZLHOHI (o AHE ) 2 & 38,880,000& 38,880 43,200 24,320
OZ2 oI (ol &= 2 2% 4,860,000 4,860 5,400 2540
203 L&l 9,180 10,200 1,020
01 7|22 HRFat| 5,940 6,600 AB60
OHHZ D 2A2HAPFAHI (Ml AR
Z& 5,940,000& 5,940 6,600 2660
02 HRIKSHRFEH| 540 600 260
OFADNIE 2T (0l At =2
Z2& 540,000& 540 600 260
04 FM2IHRFEHI 2,700 3,000 A300
ORN2YSRFAHI(0lar=2)
3& 2,700,000& 2,700 3,000 A300
405 RHAHFE SHI 1,350 1,500 A150
01 IRILESEFSHI 1,350 1,500 A150
OBAID| F(MAEZ) 2 & 450,000 450 500 250
ORI =T | A (GIAE2L) 2 & 900,000& 900 1,000 A100






